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HRRE ) AR A 55 w | TR g e (/I
dtimE ALIRHRIX ARt 52— —RIRE 12 0.043 0.022 ~ 0.097
dtigE ALiRmIER EHALIRD —HRIRE 12 0.085 0.034 ~ 0.22
JtigE AR ERH —HRIRE 12 0.030 0.018 ~ (0051
dtigE BT R NERCGRIE B — IR 12 0.037 (00070 ) ~ 0.10
dtigE R BERNERAER — IR 12 0.063 (00080 ) ~ 0.17
dtigE Bl Mz —HRIRE 4 0.014 (< 0020 ) ~ (< 0030
dtigE N B/HAEB — IR 12 0.016 (00060 ) ~ 0.031
dtigE N RHLER — IR 12 0.030 (00090 ) ~ 0.11
dtigE Fakm AOHAIER — IR 12 0.062 (0016 ) ~ 0.27
HHR HEHEM RINEB B — IR 12 0.026 ( < 00060 ) ~ 0.16
HHR BhRTTH AR —EER — IR 12 0.023 (00060 ) ~ 0.14
BHR IR INBINERR — IR 12 0.012 (00060 ) ~ 0.021
AFR BT EEAR — IR 12 0.15 ( < 00060 ) ~ 1.6
AFR Kipifg ENIE R — IR 12 0.014 ( < 00050 ) ~ (0025
AFR Jt £ tEHFEER — IR 12 0.017 (00050 ) ~ 0.025
AFR —F HER — IR 12 0.013 ( < 00050 ) ~ 0.030
BERE WEMERFR FEHB — IR 12 0.028 (< 0020 ) ~ 0.083
BERE WEMERFR BB — IR 12 0.036 (< 0020 ) ~ 0.087
BERE bt EE-RBRBAKAER — IR 12 0.041 ( < 00060 ) ~ 0.091
BERE R a2 I —RIRBARAER — IR 12 0.032 ( < 00060 ) ~ 0.076
BERE i AR A AT EHREER — IR 12 0.0090 (00060 ) ~ 0.026
HER #EH TIBR — IR 12 0.032 (0017 ) ~ (0048
HER BEMH I — IR 12 0.026 (0017 ) ~ 0.052
WiR Wi Wi+ BEIE — IR 12 0.042 ( < 00040 ) ~ 0.13
Wi R SEET EREER — IR 12 0.036 ( < 00030 ) ~ 0.14
B/ER '/EH R ARET — IR 12 0.035 ( < 00070 ) ~ 0.13
BER Al FARL A E — IR 12 0.026 (0010 ) ~ 0.071
BER Al FEB — IR 12 0.040 (< 0017 ) ~ 0.10
BER LhE BB — IR 12 0.024 (00050 ) ~ 0.051
EER = BAR — IR 12 0.019 ( < 00016 ) ~ 0.078
BER maEm BHEEERTS — IR 12 0.012 ( < 00016 ) ~ 0.045
TR KEH KERIIB —HRIREE 12 0.11 0.040 ~ 0.24
TR B B H&H — IR 12 0.041 0.023 ~ 0.11
TR tiEm TIHRERR — IR 12 0.054 0.023 ~ 0.18
TR BEIgH BIBTFH (HRAER) —HRIRE 12 0.034 0.016 ~ 0.064
TR SdEH SAERETR —HRIRE 12 0.066 0.034 ~ 0.14
TR il HIETEAR — IR 12 0.035 0.014 ~ 0.082
TR il HIEE R — IR 12 0.032 0.016 ~ 0.058
HARR FHEH FNER — IR 12 0.089 (00083 ) ~ 0.30
HARR R RHTARELERSE — IR 12 0.11 (003 ) ~ 0.23
HARR wAH KEFE — IR 12 0.088 (< 0012 ) ~ 0.20
HARR KBRH BitREE 52— —IRIRE 12 0.062 (0018 ) ~ 0.13
HARR THH aEER —HRIREE 12 0.086 (< 0012 ) ~ 0.20
HER RiE™ RIERR — IR 12 0.091 (0060 ) ~ (019
HER [oloni BEXM — IR 12 0.080 (0060 ) ~ (017
BER [oloni hEARE — IR 12 0.090 (0060 ) ~ (019
BER AHEH ABE—H#B — IR 5 0.087 ( < 000030 ) ~ 0.13
BER BET BE—BF — IR 6 0.061 0.028 ~ 0.13
BER B ENE1—HER — IR 6 0.073 0.043 ~ 0.14
BER i RHEI—RB — IR 6 0.087 0.065 ~ 0.14
BER SWFETHR SWFEHRABIER —IRIRE 12 0.22 0.069 ~ 0.52
BER SWFEREHR EWAER —IRIRE 12 0.16 (0054 ) ~ 0.41
BER SWFEREHR wEAIER —IRIRE 12 0.18 (0048 ) ~ 0.41
BER SVNFETKRER KERER —IRIRE 12 0.17 (0054 ) ~ 0.36
BER SWFERFRER BERFHR 52— —IRIRE 12 0.22 (0051 ) ~ 0.53
BER JIlgH NHERERER — IR 12 0.078 ( < 00014 ) ~ 0.19
BER JIlg JIEEH)IBAIE R — IR 12 0.067 ( < 00016 ) ~ 0.20
BER REam B8R — IR 12 0.10 (00081 ) ~ 0.22
BER =k NEHZAER — IR 12 0.19 0.037 ~ 0.65
BER na NBHETAER — IR 12 1.1 0.27 ~ 3.0
BER AR tEFAER — IR 12 0.14 (< 0015 ) ~ 0.31
BER A RERFERCH —IRIRE 12 0.11 0.025 ~ 0.21
BER ESAL AN — IR 12 0.12 0.0097 ~ 0.25
BER EBEH FHEHR — IR 12 0.14 0.044 ~ 0.29
BER Bam RHam — IR 12 0.20 0.027 ~ 0.77
FER FEHPRE ENMERR — AR 12 0.064 0.019 ~ 0.14
FER FEHPRE BEF — IR 12 0.17 0.025 ~ 0.62
FER FEHREX =R — IR 12 0.095 ( < 00040 ) ~ 0.55
FER FEHKX FEHKER — AR 12 0.039 ( < 00040 ) ~ 0.075
FER BFH gFHmHRELS— —IRIRE 12 0.023 (< 0026 ) ~ (0047
FER il npllEd:Ic] — IR 12 0.14 ( < 00050 ) ~ 0.24
FER ferEm mERRER — IR 12 0.071 (< 0013 ) ~ 0.14
FER FEWH ELBRTRB — IR 12 0.039 (< 0027 ) ~ (0064
FER WEm WRRAR — IR 12 0.089 (0024 ) ~ 0.21
FER RLEAT RLERMREH — IR 12 0.078 (003 ) ~ 0.18
FER #am KEBRER — IR 12 0.11 (00040 ) ~ 0.26
FER #am XEAER — IR 12 0.096 (00040 ) ~ 0.32
FER MR BIIERIER — IR 12 0.87 0.069 ~ 5.6
FER MR BRAER — IR 12 0.16 0.063 ~ 0.58
FER MR I I E B — IR 12 0.15 0.057 ~ 0.49
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FER R hRERKTER — IR 12 0.13 (< 0028 ) ~ 0.49
FER R Bl sp iR 15 — IR 12 0.24 0.055 ~ 1.0
FER R J\IBAIER — IR 12 0.15 0.060 ~ 0.60
FER B EEMKERTRE — IR 12 0.035 (0028 ) ~ (0057
FER B BREARB — IR 12 0.067 (< 0028 ) ~ 0.18
FER L eailic) WTHRAER —RIREE 12 0.13 (< 0020 ) ~ 0.64
FER =k BHERER — IR 12 0.065 (< 0030 ) ~ 0.12
FER FHRARRERT HERTS LAN— M 2— —IRIRE 120 ¢ 0026 )| ( <0029 ) ~ (0056
IR hRR FREEEED — IR 12 0.16 (< 0060 ) ~ 0.32
IR FRELS ERREHER — IR 12 0.21 (0070 ) ~ 0.39
IR KEKX XEREHARD — IR 12 0.22 (0060 ) ~ 0.68
IR HEAX HEASRYHEAR — IR 12 0.19 (< 0060 ) ~ 0.50
IR IR AR K)IET R — IR 12 0.27 (< 0060 ) ~ 0.56
IR REX REXBHIAETR — IR 12 0.26 (< 0060 ) ~ 0.62
IR RBIK RIRAHHBD — IR 12 0.39 (< 0060 ) ~ 1.7
IR IR IFRNIREIRR — IR 12 0.15 (< 0060 ) ~ 0.34
AR NEFH KEFHH — IR 12 0.095 (0012 ) ~ 0.19
AR NEFH AREETR — IR 12 0.088 0.031 ~ 0.13
IR MEFTH NEHTREES— —IRIRE 12 0.17 (0080 ) ~ 0.30
IR EeNi RANHTRRER — IR 12 0.10 (0060 ) ~ (017
IR SRR BEEEBERD — IR 12/ (0050 ) | ( < 0060 ) ~ (014
#RNE  |BETRK REZRNEER — IR 12 0.11 (< 0014 ) ~ (023
AENE [N E 5D — IR 12 0.52 0.13 ~ 22
AENNE [N KERRIER — IR 12 0.40 (0031 ) ~ 1.7
AENE [N MERAER — IR 12 0.25 (0033 ) ~ 0.61
#RNE |IEHEER SEAER —HRIREE 12 0.23 0.081 ~ 0.42
#RNE  [EHPRR PRAER —HRIRE 12 0.36 0.12 ~ 0.79
BENE  |EERTHRE hRFAIER — IR 12 0.23 (< 0018 ) ~ 0.85
BENE AR BARTHAEERE — IR 12 0.11 (0020 ) ~ 0.24
BERNE AR EETREVE—DE —IRIRE 12 0.13 (< 0018 ) ~ 0.25
BERINE |FHEH TBINERR — IR 12 0.080 ( < 0011 ) ~ 0.15
BENE |ERE HARNERR —HRIRE 2 0.022 0.018 ~ 0.025
#MENE  [FERH BRM&RH — IR 12 0.041 ( < 00016 ) ~ 0.14
#wENE [MEEH MNRERHRTR — IR 12 0.093 ( < 00016 ) ~ 0.42
EINEINES EHHRTB — IR 12 0.043 (00028 ) ~ 0.13
BRI |EXH EXRH&RTH — IR 12 0.041 ( < 00030 ) ~ 0.10
FBE FRHRK KB — IR 12 0.046 (0015 ) ~ 0.16

FRHIR WER — IR 12 0.065 (0026 ) ~ 0.16

RFEH REIEXSHRB — IR 12/ (0050 ) | ( < 0060 ) ~ (015

bl Eidzl — IR 12 0.060 (< 0060 ) ~ 0.24

wEh KIER — IR 11 ¢ 0030 )| ( 0060 ) ~ (< 0.060

i BEREER — IR 12/ (0030 )| ( < 0060 ) ~ (< 0.060
FBE =Sk FEB —HRIREE 12/ (0040 ) | ( < 0060 ) ~ (019
=R B BLZER —HRIREE 12 0.018 (< 0010 ) ~ (0043
BWR Sk MEXRBWLE —HRIREE 12 0.030 (0030 ) ~ (0060
AR R R/ — IR 12 0.095 (< 0011 ) ~ 0.19
AR tEm tRAER — IR 12| (00080 )| ( < 00050 ) ~ (< 0030
AR /N IMNARIER — IR 12| (00080 ) [ ( < 00050 ) ~ (< 0030
BHE '|Hm BHEHB —HRIREE 12 0.28 (012 ) ~ 0.76
BHE '|Hm B/HE — IR 12 0.080 (0040 ) ~ 0.40
BHE HEm MAHH — IR 12 0.040 (< 0040 ) ~ (0070
BHE T AR — IR 12 0.21 (0080 ) ~ 0.52
BHE SRIFH ZER — IR 12 0.32 0.19 ~ 0.55
ES B RF FRELRAER — IR 12 0.12 0.057 ~ 0.29
WHE ErEAET EHHAER — IR 12 0.077 (0042 ) ~ 0.13
Y KA® KARMER —IRIRE 12 0.11 0.054 ~ 0.34
RHR REm REREHRAB — IR 12 0.092 (< 0021 ) ~ 0.21
RHR REm B/ HUER — IR 12 0.14 (< 0014 ) ~ 0.63
RHR AT WAR — IR 12 0.064 (< 0021 ) ~ 0.15
RHR LEH LHEB — IR 12 0.12 (< 0021 ) ~ 0.54
RHR fE & 84 B —HRIREE 12 0.067 (< 0021 ) ~ 0.16
RHR e AR —HRIREE 12 0.061 (< 0021 ) ~ 0.13
REHE FITH 0] —RES 12 0.040 (< 0021 ) ~ 0.091
IR RIR I BT IR B HALERRIER — IR 12 0.062 ( < 00017 ) ~ 0.38
IR RIR I BT PRAER — IR 12 0.034 ( < 00018 ) ~ 0.12
I 212 KiEH |BXIE KB & AR — IR 12 0.040 ( < 00017 ) ~ 0.14
FHAE R FREmHER BEARAER — AR 11 0.096 0.038 ~ 0.28
FHAE R FREmHER IR/ N FRRER — IR 11 0.037 0.024 ~ 0.070
FHAE R 5 T B AT X REAFPERAER — IR 11 0.048 (0031 ) ~ 0.075
FHAE R BETEKR SHERAIER — IR 11 0.044 0.020 ~ 0.074
FHAE R BETEKR BKERE—NERAER — IR 11 0.071 (< 0010 ) ~ 0.17
FRfER EMT PR JLEAER — IR 12 0.012 (00040 ) ~ (0019
FHAE R BEAMH BHETRAB — IR 12 0.040 ( < 00050 ) ~ 0.10
FHAE R Bxm FERE/NERR D — IR 12 0.051 ( < 00050 ) ~ 0.14
FHAE R EmEH ERTHRTB — IR 12 0.055 (< 00040 ) ~ 0.19
FHAE R #lm BIIH&RATH — IR 12 0.077 (< 0020 ) ~ 0.24
FHAE R Exsidid KHATRIB — IR 12 0.051 ( < 00050 ) ~ 0.13
ZHE AHETER FNERB — IR 12 0.17 (< 0028 ) ~ 0.34
ZHE AEENFER EHREEER — IR 12 0.11 ( < 00016 ) ~ 0.38
ZHE £EEHHIIR EBRXHH — IR 12 0.13 (< 0028 ) ~ 0.58
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ZHE HEETRX BKNERB —RIRE 12 0.27 ( < 0023 ) ~ 0.78
FHR 2T KIBH —RIRE 12 0.25 (0040 ) ~ 0.52
Zme 2T ZB —RIRE 12 0.26 (0040 ) ~ 0.53
FHR FE B T BIRHRBBLUATAER —IRIRE 12 0.021 (< 00018 ) ~ 0.061
BHER FEH FHETREND —RIRE 12 0.079 ( < 00017 ) ~ 0.44
BHER L@EH o &R (= §FHT) —RIRE 12 0.060 ( < 00060 ) ~ 0.19
BHER N NEERB —RIRE 12 0.042 ( < 00016 ) ~ 0.12
BHIR FER FRTRIAB —RIRE 12 0.038 ( < 00016 ) ~ 0.13
ZFHE EX- FEHRIAE —RIRE 12 0.087 (< 00050 ) ~ 0.28
ZER mEfH mETEESRAER — IR 12 0.028 ( < 00018 ) ~ 0.19
=58 m A LESRAER —RIRE 12 0014 ( < 00018 ) ~ 0.035
ZER HABRT WIRER/NFE —RIRE 12 0.035 (< 00050 ) ~ 0.075
=B8R EX A ZERREFE —RIRE 12 0.034 (< 00050 ) ~ 0.070
ZER il PRy ERER —RIRE 12 0.045 (00080 ) ~ 0.074
HER Kz HERBERPE S— —RIRE 12 0.13 0.024 ~ 0.31
HER ERm ERIESER —RIRE 12 0.039 (< 0020 ) ~ 0.085
HER RiEH RER —RIRE 12 0.040 (0020 ) ~ 0.083
HER =EH 2R —RIRE 12 0.081 (< 0020 ) ~ 0.15
HER seh BERRTFE —RIRE 12 0.031 (< 0020 ) ~ (0064
HER FEIH FHEIR —RIRE 12 0.036 (< 0020 ) ~ 0.11
BT R ERK ERRBETE —RIRE 12 0.20 0.046 ~ 0.43
BT At EBA S LET AL —RIRE 12 0.16 0.028 ~ 0.39
KERFF KR EHFR EBPERR —IRIRE 12 0.13 0.011 ~ 0.31
KERFF KRR BiNERR —IRIRE 12 0.096 (00040 ) ~ 0.31
KBRAF RHAER EXR —RIRE 12 0.31 (0018 ) ~ 0.72
KBRAF RiER AN —RIRE 12 0.22 (<0015 ) ~ 0.37
KBRAF Lo FRB —RIREE 12 0.19 0.085 ~ 0.32
KBRAF WA WRHEMILEBER — IR 12 0.10 (<0013 ) ~ 0.25
KBRAF foL i EFR —RIRE 12 0.091 (<0012 ) ~ 0.17
KBRAF wAH BATREB —RIRE 12 0.12 (< 0020 ) ~ 0.21
KBRAF B NETREFRB —RIRE 12 0.37 (0014 ) ~ 0.83
KERFF RIEFH EHFPERR —IRIREE 12 0.21 0.022 ~ 0.44
KBRAF BT =EATRR —RIRE 12 0.35 0.098 ~ 0.64
KBRAF BRIIH BEEIITH&E —IRIREE 12 0.39 0.16 ~ 1.2
KERFF BHFH BHIFHRIB — IR 12 0.27 0.039 ~ 0.62
KBRAF N BRELVZ—F —HRIREE 12 0.44 0.11 ~ 1.1
EER HEHAER BEHATAER —IRIREE 12 0.11 0.026 ~ 0.31
EER 4 R X FEXKAER —IRIRE 12 0.25 0.049 ~ 0.80
EER P fEER EEFHRRAER —RIRE 12 0.11 0.028 ~ 0.24
EER #EHILR BEEXRAER —IRIRE 12 0.094 0018 ~ 0.25
EER MERRT I\RBAIER —IRIRE 12 0.043 0.019 ~ 0.070
EER e Z/EERB —RIRE 12 0.22 0.046 ~ 0.47
EER BAET AAGRRIEES— —RIRE 12 0.061 (0020 ) ~ 0.15
EER wEm BETRAR —RIRE 12 0.20 (< 00040 ) ~ 0.63
EER METH METRFTB —RIRE 12 0.082 (0044 ) ~ 0.21
EER LEH LETRAB —RIRE 12 0.042 ( < 00017 ) ~ 0.067
EER g mENE —RIRE 12 0.16 0.037 ~ 0.45
EER Pl BIER —RIRE 12 0.065 0.033 ~ 0.15
EER P FRETRAB —RIRE 12 0.068 (0051 ) ~ 0.091
EER foLit ERTRERY 715 —IRIRE 12 0.12 (0053 ) ~ 0.24
EER =@Em ZHTRAB — IR 12 0.15 0.065 ~ 0.47
=RE 301 FAHEMPER —RIRE 4 0.14 (o0 ) ~ 0.17
=RE 301 FEHMATERAER —IRIRE 12 0.18 (0037 ) ~ 0.37
ZRE KETH XEH —RIRE 12 0.063 (0012 ) ~ 0.16
IR [FnFl R —RIRE 12 0.11 (0028 ) ~ 0.30
AMILE  |FnFRl KRAERFT —IRIRE 12 0.081 (0021 ) ~ 0.31
MPLE  [EETH BN —RIRE 12 0.079 ( < 00027 ) ~ 0.21
FMRLE |FEH FHTHSLRER — IR 12 0.062 (< 00027 ) ~ 0.17
BIE BEH BRRFARSTE —IRIRE 12 0.026 (< o011 ) ~ 0.049
EmE RFH EMEXFREFS —RIRE 11 0.072 (0026 ) ~ 0.13
BIE BEm BRRASEREFMB —IRIRE 12 0.024 (< o011 ) ~ (0042
BRR WiT ERWIH —RIRE 12 0.033 (< 00050 ) ~ 0.055
BRR 5 BB Bk 0D 55 T BRG] —RIRE 12 0.0099 (< 00017 ) ~ 0.033
F LR FE LRI BN —RIRE 12 0.037 (0012 ) ~ 0.076
F LR B X BRI/ —RIRE 12 0.034 ( 00070 ) ~ 0.072
LR =t 4 BREHNB —RIRE 12 0.074 (00067 ) ~ 0.17
F LR i XEERB — IR 12 0.023 (< 0014 ) ~ (0090
F LR EHH BHEXKAER — IR 12 0015 (< 0014 ) ~ (0039
F LR E@ETH ETEXRAER —RIRE 12 0014 (< 0014 ) ~ (0043
L5R LETRERR RIEBRRAAER — IR 12 0.062 (0015 ) ~ 0.11
LEBR LEEHHER FONERAER — IR 12 0.059 (0014 ) ~ 0.12
LEBR amf BRINERF —RIRE 12 0.24 (0016 ) ~ 14
LEBR amf BENMNEEB — IR 12 0.076 (0012 ) ~ 0.28
L5R TR MRERE — IR 12 0.050 ( < 0019 ) ~ 0.33
LEBR fwm WK/NERR — IR 12 0.069 (o016 ) ~ 0.17
L5R fElh BNERB — IR 12 0.044 (0017 ) ~ 0.13
LEBR PN AMaRAERB — IR 12 0.024 (<0019 ) ~ (< 0080
LEBR RE&T EUNC N D] —RIRE 12 0.024 (<0019 ) ~ (< 0080
LEBR tHamm EINEIC] — IR 11 0.024 (<0019 ) ~ (< 0080
wAag TFEiH THHTRHAER —RIRE 12 0.069 ( 00070 ) ~ 0.18
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wog Nk AR — IR 12 0.025 ( < 00050 ) ~ 0.063
[il]=]-} FEpH FHHERDSNHNELE— — IR 12 0.013 ( < 00018 ) ~ 0.084
[il]=]-} Fxh FRREILEV R —IRIRE 2 (00020 )| ( < 00018 ) ~ (< 00060
wAg EEH BREMR/NERB — IR 12| ( 0.0051 )| ¢ < 00018 ) ~ 0.029
[il]=]-} bl EILPERB — IR 2 0.018 (< 0012 ) ~ 0.029
wAg Amm EORRELER — IR 2 (00030 )| ( < 00060 ) ~ (< 00060
wAg Arm AmBETER — IR 12| (00054 )| ( < 00018 ) ~ 0.033
wAg AT BRFIAET MARIZ2=F—EVE—R —IRIRE 2 (00032 )| ( < 00018 ) ~ ( < 0011
BBR Ll BB — IR 12| (0068 ) [ ( < 00050 ) ~ 0.34
BBR Rl XiBB — IR 12/ (0053 ) [ ( < 00050 ) ~ 0.19
BBR AREFERAL AT &Rk — IR 12| (0063 ) [ ( < 00050 ) ~ 0.20
FNE [S1A BRHAREIZIA =T 58— — IR 12 0.033 (00080 ) ~ 0.084
FNE A& ABHRTH — IR 12 0.089 (0035 ) ~ 0.20
FIIR SR REHHRATH — IR 12 0.057 (< 0028 ) ~ 0.13
FIIR SR BEBR — IR 12 0.055 (< 0028 ) ~ 0.13
FNE F)II BB E BET EBR&RIEH — IR 12 0.056 (< 0028 ) ~ 0.095
FERR AT BAHB —HRIREE 6 0.058 0.028 ~ 0.098
FERER FHET BPHAR — IR 12/ ¢ 0010 )| ( <0019 ) ~ ( < 0019
FERER HEET TP FEL-KMEXELS4— —IRIRE 12l ¢ 0010 )| ( <0019 ) ~ ( < 0019
EHE [ NTEB — IR 6 0.060 (< 011 ) ~ (< 011
EHE [ HER — IR 6 0.060 (< 011 ) ~ (< 011
EHE Al ABBEIRR — IR 11 0.019 (00050 ) ~ (0032
EHE I EBL D BT FHERTER — IR 11 0.026 ( < 00050 ) ~ 0.089
s FEAMBTERER BERBAR — IR 12 0.019 (< 0010 ) ~ 0.059
EEE FEAmmNEER HRERAR — IR 12 0.013 (< 0010 ) ~ 0.044
EEE FEAMmNEIR JLAMERAB — IR 12 0.41 (0026 ) ~ 18
s LB ESS BB —HRIRE 12 0.14 0.023 ~ 0.41
s KEATH EFKXEERORES) — IR 12 0.026 ( < 00016 ) ~ 0.16
R ABXKH BRTEER —HRIREE 12 0.11 0.044 ~ 0.39
EEE =N BB — IR 12 0.037 (0010 ) ~ 0.074
R RigH R — IR 12 0.040 0.024 ~ 0.059
EER EEH EER — IR 12| (0020 ) [( < 00080 ) ~ (< 0.060
EER FHEH KRB — IR 12| (0016 ) [ ( < 00080 ) ~ (< 0.060
RIGR RIGH NrRRER — IR 6 0.017 ( < 00030 ) ~ 0.044
RIGR REm fEHRET A REE — IR 4 ( o010 ) (< 020 ) ~ (< 020
RIGR A EH B 3Rt BT MR E AR — IR 12| (0011 ) | ¢ < 00016 ) ~ (0035
ERR EX4d EXGiIC) — IR 12/ ¢ 0020 )| (<0010 ) ~ (< 0048
KPR p>aidl FFPERAER — IR 12 0.016 ( < 00015 ) ~ 0.049

i FERETER — IR 12 0.092 (0022 ) ~ 0.33

BHET FEERR AT — IR 12 0.11 (< 00040 ) ~ 0.39

HEEm FRELBLRE — IR 12/ (0075 ) [ ( < 00040 ) ~ (014

BT BT S B E AR — IR 12/ (0013 ) [( < 00015 ) ~ 0.038

BEREH L) — IR 6 0.020 ( < 00030 ) ~ 0.045

EEm EENREREL 4— —IRIRE 4 0.016 ( < 00030 ) ~ 0.039

BEM BER — IR 4 0.014 (< 00030 ) ~ 0.030

BEOFMm S OFEMRA —IRIRE 4 0014 ( < 00030 ) ~ 0.036

T BT — IR 6 0.036 (0022 ) ~ 0.081

R TR —HRIREE 120 ¢ 0025 )| ( <0026 ) ~ ( < 0070

3%FM BWEREHARNB — IR 120 ¢ 0032 )| (<0026 ) ~ (0080

= BAARE A4S [ 3% 50 7 W B 14 R R RE A — IR 12 (00092 ) [ ( < 00015 ) ~ 0.034

@ EFEORTH L . FEHEN. &§AORARHE TRERBTHLBEE. ZOEEFIMEETRRLIVS,

@ REFHHE(&/NME~FZXE) ORTHE :

+ BR/MEXBRAEOEN. B TRIERBTHIIHEE. [ <(FLAORHTRE JELTRRLTNS.

+ BMEXFERAEOEN., B TREU EEETRIERGTHIIHEE. [ GAIEME) JELTRRLTNS,

+ RMERERAEDEIL. JIS Z 840112 L > THIBEBEASD . AIMBFUTELTRRL TS, L ABIIB T HEE TRMEDHETEL. ThEY T OHITRRLAL,
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HRRE ) AR A 55 w | TR o (/MY
HEFR Ham EahllIFRRE 42— 12 0.016 (< 00050 ) 0.026
HEFR SALERE FHET EHRET—KRR 12 0.014 (< 00050 ) 0.023
IR HEBEBERIFERT JITERT PR R Fih N REE 12 1.6 0018 ) 4.6
BER = EMIXEBARE 12 0.29 0.050 0.76
FER Aam HHE KRN G 12 0.095 (00040 ) 0.19
#ENE [(BETBRR BREXHARKISYR 12 0.18 0080 ) 0.36
BERINE  |FEH J\BB /PR 12 0.15 0040 ) 0.24
=88 sk ZEAER 12 0.056 ( < 00018 ) 0.18
HER T KEFEL Yt 58— 12 0.084 (< 0020 ) 0.35
TRERRT TR B ELEILEHA 12 1.6 0.42 3.9
KIRAF RKEH RKEHRFB 12 0.29 0.051 1.1
EER P R X RIBEBHEAER 12 0.096 0.036 0.20
EER P R HEXRKBER 12 0.12 0.028 0.35
=RE KEERLLTH LS KIS 12 0.073 0014 ) 0.16
BIRR [ T M ED 10, 0.019 ( < 00050 ) 0.05
EIES Bl BER 12 0.053 0.010 0.091
EIES B ZBRNER 12 0.096 (< 0015 ) 0.28
EIES B BEEREL B 12 0.081 0.023 0.17
EIES Bl NG 12 0.18 0.016 0.50
EIES B 0B 12 0.063 0013 ) 0.17
EIES Bl WIB 12 0.16 0.049 0.75
LEBR LERHR=X BT HH3RFT 12 0.057 ( < 00080 ) 0.097
LEBR ERHRX LRy 12 0.057 ( < 00080 ) 0.098
LEBR Bm B/NERR 12 0.16 0.026 0.92
RIGR HET HETHPRIEAMIFIRERE 4 0.35 < 020 ) 1.1
AR I\ I\KT&RFH 12 0.035 0013 ) 0.090
xR P kil SHENERAER 12 0.027 ( < 00030 ) 0.079
KPR Ko RADNERAER 12 0.019 ( < 00016 ) 0.044
BIFR FERE T SERERBEFT R 12 0.011 ( < 00015 ) 0.037
EIFR B @ LEEEEHBR 12 0.010 ( < 00015 ) 0.033

@ EFHEORTH L . FEHEN. & AORARHE FTRERBTHLBEE. ZOEEFIMEETRRLIVS,
@ REFHHE(&/NME~RXE) ORTAHE :

+ BR/MEXBRAEOEN. B TRIERBTHIIHEE. [ <(FLAORHTRE JELTRRLTNS,

+ BMEXFBRAEOEN. B TREU EEETRIERGTHIIBEE. [ GAIEME) JELTRRLTNS,

* RMERERAEDEIL. JIS Z 840112 L > THIBEEASD . AIMBFUTELTRRL TS, L ABIIB T HEE TREDHETEL. ThEY T OHITRRLAL,
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dtimE AR PR 1EBHR il 12 0.077 0.041 ~ 0.14
dtigE AR RR FISTEHEHR il 12 0.045 (0019 ) ~ 0.083
JtigE S RHB BE 12 0.042 (0012 ) ~ 0.13
dtigE Fakm JIFAIER BE 12 0.056 0.025 ~ 0.15
HEFR —@m —EHERER i 12 0.028 (0018 ) ~ (0041
ERE WEHERR BB il 12 0.039 (< 0020 ) ~ 0.091
ERE WEHRE BER BE 12 0.026 (< 0020 ) ~ 0.072
ERE & ZWMEBEFHAIRAER il 12 0.043 ( < 00060 ) ~ 0.089
HER EH BHXRER BE 12 0.033 (< 0018 ) ~ 0.072
HER WEH BFEEHR BB 12 0.029 (0015 ) ~ 0.065
TR TiEm TiHPHER il 12 0.052 0.028 ~ 0.15
BER abn FRBEHR BB 6 0.077 0.061 ~ 0.11
BER SWFEHAER ZHRaHER BB 12 0.15 (0027 ) ~ 0.36
BER = EMHIEREHR BB 12 0.48 0.048 ~ 32
BHER FHEM FHREXABHR il 12 0.38 0.085 ~ 1.3
FER #am BRIER BB 12 0.11 (00040 ) ~ 0.37
FER #am KizrEAER BE 12 0.10 (00050 ) ~ 0.22
IR IRR REEREFR il 12 0.24 (< 0060 ) ~ 0.51
IR HARK B/GEY/\EBLB il 12 0.24 (< 0060 ) ~ 0.77
#RNE [BETBFR BFREBER BE 12 0.11 (< 0014 ) ~ (024
LEINE R HE/NERB BE 12 0.11 (003 ) ~ 0.17
BENE | KfH AT RREXRERR BE 12 0.069 ( < 00016 ) ~ 0.24
FBE REAMT W B il 12 0050 ) | (0060 ) ~ (017
AR £Rm R B i 12 0.10 (< 0011 ) ~ 0.20
AR FrrmH HeHAER BE 12 00080 ) | ( < 00050 ) ~ (< 0030
NES B RF ARmRABBHESIRB il 12 0.16 0.057 ~ 0.35
ES B RF EZEBHEHTIRB il 12 0.11 0.073 ~ 0.15
RHR REm MERRB BB 12 0.14 (< 0014 ) ~ 0.51
RHR AT WEERERRB BB 12 0.086 ( < 0021 ) ~ 0.22
FHAE IR BETEKR BHFHBAIER il 11 0.042 (0013 ) ~ 0.077
FHAE R EMT PR R-257 8B il 12 0.012 (00040 ) ~ (0019
FHAE R =5 BH=BR il 12 0.063 ( < 00040 ) ~ 0.20
ZHE HEEHEX BB BE 12 0.19 0.080 ~ 0.48
ZHE L2HETNRER TEAER BE 12 0.26 (< 0028 ) ~ 0.65
ZHE L2HENRER Al R BE 12 0.26 (0048 ) ~ 0.68
ZHE £ZHETILR RFETH BE 12 0.15 (0048 ) ~ 0.42
ZHE 25t SHBER BE 12 0.26 (< 0040 ) ~ 0.52
ZHE 2/t #EBIEEE) il 12 0.060 ( < 00060 ) ~ 0.15
ZER ShEE™ EiE235 85 il 12 0.034 ( < 00050 ) ~ 0.057
HER Higm BHEER BB 12 0.079 (< 0020 ) ~ 0.15
KBRFF RHRE FRERB BE 12 0.71 (0023 ) ~ 24
KERAF WA WA SHHFD BE 12 0.14 (< 0013 ) ~ 0.27
KERAF I\EH ATER BE 12 0.28 (0032 ) ~ 0.40
KBRAF R BRGERELV IR il 12 0.50 0.083 ~ 1.6
EER BT REIB BB 12 0.22 (< 0014 ) ~ 0.92
EER wmEm BHB il 12 0.058 ( < 00040 ) ~ 0.23
EER FEM BINERB BE 12 0.17 0.066 ~ 0.34
RRE BRH BHHERB E 12 0.080 0.029 ~ 0.21
MRLE  |BHE FREH AR A ERAED BE 12 0.13 (< 0018 ) ~ 0.30
BEE BEH KRERRB BB 12 0026 ) | ( < 0011 ) ~ 0.049
BER KFH RFHRAFHD BB 12 0.025 (< 0011 ) ~ (0040
BRR HiTH mEEEHR BB 11 0.023 ( < 00050 ) ~ 0.076
EIES HEMT BET REASAER HE 12 0.011 ) | ( < o014 ) ~ (< 0030
LEBR EERHRX HARWLAIER BE 12 0.056 ( < 00080 ) ~ 0.10
LEBR ZRM ZREPETH il 12 0028 ) | ( < 0019 ) ~ (< 0080
BRR M BHEER il 12 0055 ) | ( < 00050 ) ~ 0.20
EEE Bl AN ES 7GR BT A2 R BE 12 0.018 (< 0010 ) ~ 0.058
s EEHRERK B BE 12 0.050 0.035 ~ 0.11
s R MR XER BE 12 0.057 0.021 ~ 0.10
fakE R EEmESX FRER BE 12 0.082 0.021 ~ 0.17
fakE R aEm HER BE 12 0.073 0.028 ~ 0.23
RIGR RIGH PRBAER il 6 0.019 (< 00030 ) ~ 0.061
RIGR e RT BEAER BE 12 0.040 (< 0030 ) ~ (0090
AR REAT IKIERT B BB 12 0.012 ( < 00015 ) ~ 0.039
KPR BIRFH RSP RAR T15 BE 12 0052 ) | ( < 00040 ) ~ 0.12
BERBE |#EEIIATH BEEIINE BE 4 0.015 ( < 00030 ) ~ 0.035
BERBR |WRW MR il 4 0.027 ( < 00030 ) ~ 0.074
By g™ HTER BE 12 0025 ) | ( < 0026 ) ~ ( < 0070

@ EFHEORTHE - FEHEN. &§AORARHE FTRERBTHLBEE. ZOEEFIMEETRRLIVS,

@ REFHHE(&/NME~RXE) ORTHE :

+ BR/MEXBRAEOEN. B TRIERBTHIIHEE. [ <(FHAORHTRE JELTRRLTNS,
+ BMEXFBRAEOEN, B TREU EEETRIERGETHIIHEE. [ GAIEME) JELTRRLTNS,

s RIMEXRZHZKIEDEL. JIS Z 840112 &> THIEZEAD . AR FUTELTRRL TS, 1L, ABITE T HEETRIEDHETEL, TREIYTOHIFRRLEL,




THSURRIFLY (FRIOFE: inEA DEE R AERRE D)

N 5 [ ’ FiflE TREEFEE (1 g/m3)
HMERFRE Fr7Ess BIEH R A Heigi 5> 4B (dg/md) s
FER FERERIR EFAEPEHHAR EANDEE FAERRR 0.070 0.25
FER FEHHRE FEHR (BH) READEEFEAERREL 0.070 0.16
=R ST BREXER EANDEE FAERRD 0.090 0.25
FHER i s T R T RAERSBER EANDEE FAERRR 0.032 0.15
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@ REfHHE(&/NME~FRXE) ORTHE :
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